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NAME: PERIOD: DATE:

Homework Problem Set

For Problems 1-4, list the first five terms of each sequence, and identify them as arithmetic or
geometric.

1. A(n)=A(n—1)+4forn=1and A(1) = -2

-2,2,,10,14
Arithmetic

«A(n—1)forn=1and A(1) =8

2. Aln)= 7
821,44

Geometnic
3. A(n)=A(n—1)—19forn=1and A(1)=—-6
—6, =35 -44,-63, -3
Plr*ifhmet'lc.

4. A(n) = %A(n —1)forn=1and A(1)=6

(o, 4, 32
_ 3’? 21

Geometnc
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For Problems 5-8, identify the sequence as arithmetic or geometric, and write a recursive
formula for the sequence. Be sure to identify your starting value.

5. 14,21, 28, 35, ... O ‘r—
+7 Aridmetic

£lAY= £n-1) 7 Ton=D= Tendy +7
=M fenzz | fay=m , N2

6. 4,40, 400, 4000,...

X 10 6€ometm'Q
Y= 10Fh-1)
‘FC\ \’-‘Ll -Fék' N 2;\

7. 49,7,1,1 L
x L Geometric fon ) =L fen)

~
f(n\= —L‘FCF\—‘ ' = N 2
£0) = 49 ) N =3 fen=da, P2

8. —101, —91, —-81, —71,...

1O Arithmetic Fon+0 =Tery +o

f(n)= F(n-1Y+10 S
K= o nz2 T2 o], N2

9. The local football team won the championship several years ago, and since then, ticket prices

T(n+D= loRn)
]CCI)f“-/ J N>

have been increasing $20 per year. The year they won the championship, tickets were $50. Write
a recursive formula for a sequence that models ticket prices. Is the sequence arithmetic or
geometric? )

+3A0 Arithmet ¢ 50)70_,0‘OJ...
d= 20
fy=50

fn+1) = WFCﬂ) =l

for N> |
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10. A radioactive substance decreases in the amount of grams by one-third each year. If the

starting amount of the substance in a rock is 1,452 g, write a recursive formula for a sequence
that models the amount of the substance left after the end of each year. Is the sequence
arithmetic or geometric?

i A —> 2 oumount remaimin
3 e crecsed 5 9

V=150 = B Geomotnc,

L) = 7—-3-$Cn)
£0Y = wygaL N> |

11. After knee surgery, your trainer tells you to return to your jogging program slowly. He suggests
jogging for 12 minutes each day for the first week. Each week thereafter, he suggests that

you increase that time by 6 minutes per day. How many weeks will it be before you are up to
jogging 60 minutes per day?

BEST TO USE EXPliC('\' Formula.

FNz 13- (M- Lo=(n+b
= |otbn=-b S = n
™= onto ) \T=n

Gk _Fweeks Wil be
(OmiIn /day

12. Brian gets a starting wage of $15 and an annual raise of $1.50 per hour. What will Brian’s hourly

wage be during his tenth year?

F)=15+ 150D oo Lsu+R S
=\5+1.5n- !5 =~ \5H+I35
F(N= 1.5~ +13.5 | =525.50 |
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@ diminish in value each yeaD -F(\B - 36, o000 vr=.7]
13. A car depreciates 30% every year. Find the value of a 5 year old car if the original price was
$30,000.

100%—230% = 10 7% value remains

£ = 30,0001
£(8)= 30,000 (T
5= 7903

14. Scott is saving to buy a guitar. In the first week, he put aside $42 that he received for his
birthday, and in each of the following weeks, he added $8 to his savings. He needs $400 for the
guitar that he wants. In which week will he have enough money for the guitar?

d=3  FMN=42+B3(") . 4po= B3
£1N=42 = Y2+ 8n-B 3(0(0:'8?\ i

T~ Sn+34) [N=4535\

* In Yl weeks he will have
enough ¢ for guiton

15. Avirus reproduces by dividing into two, and after a certain growth period, it divides in two

again. How many viruses will be in a system starting with a single virus after 10 divisions?

£ =l Con-=(7 =)
= rm= | (Zy\_\ PaY = Cﬁng

= 1024]

|, 2,4, %, 10, 33, b4, 138, 250,512, 102y

10 divi sion — |l terms



